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Subject Ability Test (SAT)

Class - IV
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The name of baby deer? o1 ) 9 sl
a) Puppy b) Foal c¢) Fawn d) Chick
A hen can _ . — Fill in the blank.
a) swiminthepond d) weave anest c) layeggs d) talk with us
Child of one's aunt or uncle.
a) Cousin b) Sister ¢) Brother d) Brother-in-law
Fill in the blanks with the correct option. A of Ants.
a) Group b) Litter ¢) School d) Colony
Seven hundred fifty three = ?
a) 700+50+3 b) 70 + 500 + 3 ¢)7+50+300 d) 70 + 50 + 30
Dividend=............... R i 0 i S PR,

a) Divisor x quotient + remainder b) remainder x quotient + divisor

c) divisor x remainder + quotient (d) none of these
The value of one badminton if Rs. 90. Rana bought One pair badminton and gave Rs. 200 to the

shopkeeper. How much he will receive from the shop-keeper?

a) Rs.20 b) Rs.30 c) Rs.40 d) Rs.50

World environmental Day is celebrated on .........

a) 5%June b) 6* June c) 7* June d) 8® June
Iodin is available in ......

a) Tea b) Salt ¢) Rice d) Chocolate
The plant ............. has no leaf. .

a) Cactus b) Stone Chipper ¢) Bamboo d) None of These
In air the maximum quantity of gasis ........... . .

a) Oxygen b) Carbon-di-oxide ¢) Helium d) Nitrogen
The ice melted into water at .......... temperature and water is freezing B g sdena

t

i d) none of thesc

a) 0 degree & 100 degree b) 100 degree & 0 degree ¢) 0 degree & 0 degree

The sound of lion is call —
a) trumpet b) moo c) bark d) roar
The old man is suffering
a) of b) over c) in d) from
The opposite gender of mare is called —

: b) horse c) deer d) sheep

a) stag
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Fill in the blanks to make it present continuous tense.

The car (move)

a) are moving b) is movin is i
Which of the following is divisible by Q?g u S
a) 487082 . b) 725634 ¢) 685723
Hugh-N-sang came in India in the kinghood of ............... —

a) Kaniska b) Samudragupta ¢) Akbar

The name of the highest mountain in the world

(SAT-IV)

d) moving
d) 354123

d) Harsha Bardhan

a) Mount Everest b) K2 . .
Who discovered the vaccine of Smallpox ? ¢) Kanchenjunga  d) None of these
a) Louis Pasteur b) Galilio ' 2
Who was the second Woman Presidentin India? ©) Pdward Gener ) Newton
a) Protiva Patil  b) Draupadi Murmu ¢ ; Su . . ) A
) cheta Kripal
V;’hld;: was the oldest civilization in the world?) BEERGS RS IEE
a ~gyptian b) Sindt 1
The temple-city of India is ) > n u ¢) Mesopotamia  d) None of these
a) Ranchi b) Bhubanes
A almost extinct animal is ) ......... o ©) Kolkata s
a) Elephant b) Tiger i
Which one i metal? ) Tig ¢) one horned rhinoceros d) Dynosaurs
a) Water b) Mercury ¢) Milk ) Oi
“)/hicg soil is appropriate for cultivation? L b
a tone soil b) sand Soil ¢) Alluvial Soil i
The Werther in the region of see-beach is ....... D @) Kankaur Soil
a) Temperate b) Huge Cool Hot i
A Green (Rabi) crop is ........... g e == d) Rainy
a) Pea b) Mango ¢) Jack fruit d) Water-melon
T)hc aglmal, d Lyk e b was sent to the space at the first time.
a 0g name a ) Cat named Lyka c) Man named Lyka d) Rat named Lyk
What is the plural form of knife? Y ) yea (D) it
a) knifes b) knifs c) knives d) knifess
Choose the regular verb —
a) Played b) Write ¢) Found d) Took
A twelve hours clock shows the time 7pm, then what will be the time of twenty four hours clock?
a) 29pm b) 19 pm ¢) 9pm d) 00.19am
Rama born on 29® February 2012. Her next birthday willbe on .........
a) 2013 b) 2014 c) 2015 d) 2016

Following which is equal to 10 milli meter —

a) 100 centimeter b) 1000 centimeter ¢) 10 centimeter

8 7 .6.5.4.3,2,1-.

StTretrsTET3IT 2t

a) 2 b) 3 c) 4

Which one is correct ?

a) 5_2 b) 5.2 c)4_1
8<% g8 8 9 <4

Which one is trapezium —
2 <> w [\
No of teeth of a complete matured person -
a) 10 pair b) 16 pair

The sting of ant is full of ............

a) Malik Acid b) Formic acid

Why the body of porcupine is full with thorn?
b) for self-defense

¢) 12 pair
¢) Folik Acid

a) For drinking water ¢) for easy movement

d) 1 centimeter

d) 20 pair
d) Tartaric Acid

d) for sheltering



Mental Ability Test (MAT)
Class - IV

What is the number at?

B e

b) 63 c) 88

52, What is thc number at?

6 2 3
I 5 I 0 5 9
ﬁp4@@7Qu

a) S b) 7 ¢c) 9 d) 3
53, If ABCDE = 12345. Then what will be value of FGHI ?

a) 6789 b) 1234 c) 1793 d) 8769
54. The greatest number is formed by 2, 4, 7, 6 and that is.............

a) 7642 b) 6724 c) 4276 d) 2764

55 Follow the row and write the value of ?

@@@.@ - o s

a) 54
56. West Bengal : Kolkata :: Indla £ ciiene it agh
a) Mumbai b) Kolkata ¢) New Delhi d) Puri
57.  Which pair is correct?
b) National Bird — Duck

a) Sweeper bird — Crow

¢) Messenger of spring — Sparrow d) Tailor Bird : Tea

58.  Which one is odd —

a) Flower b) Fruit c) Leaf d) Sky
59. : e eifafel e

a) fagw b) TEE® c) 3@ ¢) e
60. UMBRELLA — Here how many letters are not vowel ?

a) 5 b) 7 c)6 d) 8
61. Area of which is very small than other —

a) Village b) District c) State d) Country
AGIGIGI

a) b) ¢) d)

Find the odd one.
63. Gun : Bullet :: Woven : ?

a) Field b) House ¢) Roof d) Smoke
64, F’AA}) ‘ ‘ﬁ ; How many times you collect water by B pot from A pot.

3 b) 11 times ¢) 12 times d) 15 times

a) 10 umes
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abe, bed, ode, deg, efg, fgh @M st e

a) bed b) cde c) abc d) deg
F
1 Choose a letter from the following and complete the table.
wiL |
“I
E a) O b) P c)Q d R
R
8 8 Follow this figure and find how many circles are here?
l a) 5 b) 6 ¢) 7 d) 4
What is the relation of you with the father of your mother’s brother?
a)  Grand-father b) Uncle c)uncle (mama) d) Uncle (Mesomosai)
At what time in the clock the three hands are in same position?
a) 12 o’'clock ) b) 1 o’clock ¢) 2 o’clock d) 3 o’clock
U.\z \-‘;‘\ By which number of way you can reach from A to B
' »
—— ’K"/—
a) 1 b) 2 ¢) 3 d) 4
M Which pot will fill fast?
(]
)
a) A b) B ¢c) B&C d) C
o
. What is the time now?
a) 945 b) 10:45 ¢) 10:09 d) 9:10
Three years back From today what was year of English Calender?
a) 2020 b) 2021 c) 2022 d) 2023
One Ass = 4 ;0One Horse = 6 ; then Two Asses + Two Horses = ?
a) 22 b) 20 c)24 d) 28
9:9.:0, 19192919
A
P Va
> +200gm 250gm [250gm |
1
o A
X + 100gm
L

A

Choose the right one —

a) 500 gm b) 600 gm c) 700 gm d) 800 gm
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Choose the right one —

a) 14 b) 16 c) 18 d) 20
Fill in the blank with appropriate number.
3, 9, 279 8 ] b __?‘.

a) 6 b) 90 ¢) 30 d) 243

s

How much area of this picture is coloured?

a) 1 b) 2 c) 3 d) 4
6 6 6 ) 6

Lowest prime number is

a) 1 b) 2 c) 3 d) 5

If BALL = CAP, CAP = PENCIL, PENCIL = BAG, BAG = RUBBER, So Rohit when went
outsidc,hcused .........................

a) CAP b) ROBBER c) PENCIL d) BAG

RAM carries bag with 2kg apple, 3kg guava and 7kg mango. How will be the weight of Bag
only with appleand mango?

a) 9kg b) 7 kg c)12kg d) 10 kg
Write the name of the coloured part this figure?

7,
a) Quadrilateral b) Triangle c) Circle d) Rectangle
How many arms of this ﬁgure@
a) 9 b) 10 c) 11 d) 12
Put the appropriate sign — g— @ %
a) < \ b) > c)= (d) None of these
How many vowels are in this word - Elephant
a) 3 b) 2 c) 6 d) 5

8 8 8 8

Which one is wrong? .
a)  Quadrilateral has four arms b) Triangle has three angle '
¢) Rectangle has five arms d) Circle is covered a curved line
Rama is suffering from fever. The thermometer shows her body temperature ...........
a) 80 degree F b) 90 degree F c) 100 degree F d) 85 degrec F
Sohini wants to go her uncle’s house which is in the capital of India. So she wants to go g
a) Patna b) Kolkata c¢) Delhi d) Mumbai
A=1,B=2,C=3, the value of (B+C) x A="?
a) S b) 6 c) 7 d) 8

Suddenly a boy of your class losses his sense, then what you ought to do —



(MAT-IV)

a) tosit without any sound b) to give water to his face
¢) towait for final bell d) to look at the other side
91, My mother tell me to buy 3 pairs yellow pen, 4 4 dozens red pen and 2 green pen. So how much
pens I will buy —
a) 0 b) 56 ¢) 57 d) 58

92. Rahim wants to go Bengaluru by air from Kolkatata. From which airport he starts his journey?
a) Mahatma Gandhi International Airport b) Bagdogra Airport
¢)  Netaji Subhashchandra Bose International Airport d) Asansole Airport

93.  Sachin collects 128 runs. What is the local value of 2?
a)  Greater than the local value of 1  b) 200  c¢) less than the local value of 1 (d) 2

Which number is missing?

a) 6 b) 3 c)4 d) 8
If the red blood corpuscle decreases it’s number in our body, thenthe..................... disease
will be.
a) Dengue b) Anemia c) Malaria d) None of these
BIONAS A oo sisiin e s st part of a tree.
a) Flower. b) Root c¢) Stem d) Leaf
The direction of the upper of every geographical mapis ......................
a) North b) South c¢) East d) West
The signature every writer is always at the ..................... position of a letter.
a) Left and upper b) Left and Lower c) Right and Upper  d) Right and lower

How many digits are there in any Indian pincode?
a) 4 b) 5 c)6 d) 7
- Which colour is not in the Rainbow?

a) Red b) Yellow c) White d) Green




